
Tips and common corrections

[1] Somecommentsaboutnotation.

(a) Thesymbol“ = ” meansequals, andnothingelse.Pointsareloston testsandquizzes
for usingit inappropriately.

(b) Thesymbol“ ⇒ ” meansimplies. It connectssentencesor logicalstatements;it does
notconnectvaluesor expressions.For instance:

2sin x + 2cosx = 1 ⇒ 2 2cosx + 3 2sin x = 2 + 2sin x .

Thesymbol“ → ” meanstends to, asin “haslimit”, or maps to, asin f : R × R → R.
It cannotbesubstitutedto “ ⇒ ”.

(c) The symbol“ ∈ ” meansbelongs to. It relateselementsto sets.The symbol“ ⊂ ”
meansis included in. It allowsto comparebetweensets.Thetwo symbolsarenot in-
terchangeable.

(d) Useof parentheses.

To multiply x by −y, wewrite x(−y) . “x ⋅ −y” or “ x × −y” is incorrect,evenif you
reducethesizeof theminussign,raiseit andstick it verycloseto y .
Also, x − y and x + (−y) arecorrect.“ x + −y ” is not,evenif youreducethesizeof
theminussign,raiseit andstick it verycloseto y .

(e) The notations dz
dx

, ∂z
∂x

meandifferent things.The first is a total derivative (z is a

functionof x only, possiblythroughintermediatevariables),whereasthesecondis a
partialderivative.

[2] “√ 2x = x ” is wrong,sincex maybenegative.Thecorrectformulais √ 2x = | x | , which is
morecompletethan“√ 2x = ±x”. For thesamereason,2/3y = x isequivalentto 2y = 3x , (where
y maybenegative), but not to y = 3/2x , wherey is nevernegative.

[3] Distinguishbetweenseriesandfinite sums.

∞
∑
0

nz = 1 + z + 2z

is incorrect.

∞
∑
0

nz = 1 + z + 2z + … + nz

is alsoincorrect:even if you stopat n insteadof 2, the right-handsidehasonly finitely
many terms.

∞
∑
0

nz = 1 + z + 2z + …
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and

∞
∑
0

nz = 1 + z + … + nz + …

are both correct. The use of the three dots at the end is important.


